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PART -1 e
(1) GENERAL ENGLISH / 9 i

Directions.: Choose the word most nearly
OPPOSITE in meaning to the given word :

FACT
(I  Fiction (2) Imagination
() Reality @] Lie

Directions (2) and (3) : Complete the following
sentences by using the correct form of the verb with
the help of options that follow :

2. The Headmaster

to speak to you.
(1) iswanting

(2  waswanting

(3 were wanting

» (4) wants
3. He for five hours.
*(1)| hasbeen sleeping

(2) musthad beensleeping
(3  wassleeping
(4  hadslept

Directions (4) and (5) : In each of the following
sentences improve the underlined part with the help
of given options :

4, I shall have much pleasure in accepting your
kind invitation to dinner.
(1) . Can’t have much pleasure

@) - Iam having much pleasure
(3  Imayhave much pleasure

@) | Ihave much pleasure

5. No sooner did the police arrived than

robbers made good their escape.
. 1) No sooner when the police arrived
@) Nosooner did the police arrive
@3 ' No sooner the police arrived
(4) - Nosooner had the police arrived

3

A-2

the .

Follow my YouTube Channel: Prateek Shivalik

6 Directions : The idiom given below is followed
. by four possible meanings. Choose the correct

option :

By fits and starts

)

successfully
suddenly

(V| irregularly @
@

(3)  incompletely |

7. Directions : In the following sentence, out of
the given alternatives choose the one which best
expresses the meaning of the underlined word :

His performance in the office is quite superficial.

(1) excellent R (2)| shallow
(8) . excessive (4 unnatural
8. Directions:In the following sentence, one

part may have an error. Choose the one which
has theerror, if any :

It is high time/ thatywe
-(1) @

the answer/to this query.
( @

end /

Direc.tions (9) and (10) : In the following items a
word is followed by four explanatory expressions.:

Choccl)se the expression which best describes the
word :

‘9. ORTHODOX

(1)  onewhoflonts established opinions
(@) onewhohasno opinions of one’s own
‘ +(3) | one who holds established opinions

(4)  onewhois self opinionated

10. EXPLICIT

(1) . drawing out a secret from somebody
(2) ©  comparison thatis out of place

»(3)| statement thatis absolutely clear
) -trade prphjbited by law

18A7
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16.

17.

18.

19,

20.
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o j PART - 11 / 90T - 11 ’
(1) GEN. KNOWLEDGE AND CURRENT AFFAIRS / 6= 1 & FHRIHITS T2y

21, When was Goods and Services Tax (GST)
introduced in India ?

(1)  February, 2017

«(2  April, 2017
@)| July,2017
«(4)  January, 2017

22.  Which qf the following gates in the defence wall
of Delhi was identified by Ibn-Battuta as the
greatest ?

(1) Guldarwaza
(@  Budaundarwaza
- 4(@)|. Delhidarwaza

" (40 Mandwidarwaza

. 28.  Which of the following is the first State in India

that has made roof top rainwater harvesting
structure compulsory to all the houses across

the State ?
(1) Punjab

«(2 Tamil Nadu
(3| Kerala

‘ (4) : Maharashtra <

24. The Chipko movementis associated with which
of the following states ?

()| Uttarakhand

@  Chhattisgarh

3 Madhya Pradesh
(@  Jharkhand

Who is the founder of Grameen Bank of
Bangladesh?
@ Mohammed Yunus
-(2) Mohammed Talib
‘@3 S.R. Hashim
(€Y Mahabub-ul-Haq

25.

A-4 |
Follow my YouTube Channel: Prateek Shivalik

21.

22.

23.

24.

25.

AT Sl e FX (GST) WRd § F YR
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1) e, 2017

@ aria, 2017

@) @K, 2017 -
) e, 2017
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26. Who was awarded with Jnanpith award,
20177
(1)  ShivMehta
2| Krishna Sobti
3) Ramesh Kuntal Megh
(4)  Jayantha Mahatab Bora

27.  Which one of the following rivers flows across
China, India and Bangladesh ?
(1) Indus
2 Ganga
(3 Changdiang

4(4)| Brahmaputra

28. Which one of the followmg is not the form of
precipitation ?
(1) Sleet
(2 . Hail
(3)| Absolute humidity
(4)  Rainfall

29, Dipa Karmakar won a gold medal in
Gymnastics World Challenge Cup at, Mersiw,
Turkey on July 8, 2018. In which event, did
she win ?
(1) _ barevent
(2)| wvaultevent
(3) parallel bar exercise
(4) floor exercise

30. Which of the following Country hosted the
Asian Gamesin 2018 ?
(). China
@) | Indonesia
3 Japan
(4) SouthKorea

“18A7
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PART -1I / ¥ -11
(2) REASONING ABILITY / difeher draar

8L A solid brick of Gold measuring | 31 Fret 18 cmx 48 om x 16 cm Tl STERR 1 I
.18t2m X 11)8 cm X 16 cm is melted and converted % &= =1 forarenst =7 Y 3FHIA # gftafda fwan
Into a cubical shape. An edge of thi h CxsE
isequal to: R smewshape TR Wﬁmﬁﬁw(@)
’ CRG I
M| 24cm 2 12cm & .
@ 24dR. @ 129
3 18cm 4 48cm A
@ 1874l @ 48%HL
32. A manis s]'flanding near a clock_ tm:ve,r. He 32; P =fe Hal TR 6 e Tel 21 g <
moves southwards to reach a point ‘P’, 8 km R 3 s & S fR o WA
from the clock tower. From ‘P’ he turns right, R =t fag P tR gl -
then moves 6 km to reach a point ‘Q’. From ‘Q’ g frit WeI @ foig P’ ¥ 7 qeH 6 fpr
‘l;{c::, n;gv;;t;righ&ag;in ancllareaches a point o © 8 6y ‘Q W) ﬂéﬂm gl foig‘Q 9T
, om ‘Q’. From ‘R’ he turns right : . W‘” T Q'
and reaches a spot ‘S’, 6 km from ‘R’. How far ﬁ-T{EI'aHW fii'g', R %Gﬁrﬁﬁg Q bl
and in which direction, he is from the clock 10 feErt g 1 foig R @ 98 T8 GEH T 'S’ W
tower ? WMt R A AR AT WE st a”
(1)  2km South @| 2km North w1 W A fee gy qon frg e 2
@  18km South 4  4km South O 2 fF o @ 2 fFSsw
(@) 18 Tt gfar @ 4 Toreit <faqor
33. Out the following given four words, one is -
different from the other three. Select the odd | 330 ¥ fed T wR w=gi & woh vt s i ekl
one : 39 fawm =g 0 g
M| Wnite @ Red ® W @
@) Yellow - . () Ble @ den @ e
RN ¥ 34,
34. Inderisaman and Sahej is a woman. Sahej’s F T 0 T Tt T &t g1 Hesl @t Ha
mother is daughter of Inder’s mother’s sister. TR aﬁ I =l a8 Y S T e = T H
How is Sahej related to Inder? T HY §? .
(1) Sister £ @), Niece 0w @ s
(3) Grand-daughter . (4) Daughter @) ORARE @ ¥
A-6 SPACE FOR ROUGH WORK / T &7d % firg g
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35.

SPACE FOR ROUGH WORK / 7% & & fou g

35.
[ ] ® .
[ ] [ ]
I II I II
- There is some relationship among the above mﬂﬂﬁ A aq@f‘mi’r | FO Hay ¥ f=fafaa
two figures. Out of the following figures select i # | 39 THfa =4 g T
the set of figures that have a relationship similar 8 gy ¥ 5 IR . Eﬁ%
to that in the above figures : ST H T :
[
* []
o | U . @ N
®
®
@ o
2
“ _ * | i N
I II
®
* ()
@) - A
¢ I II
I |
o
. @ .
2 . I II
I IT : ’
36. < freriafad =i @1 o @ e -

86. Observe the following words carefully : hopeful, helpful, healthy, healing, heating.
hopeful, helpful, healthy, healing, heating. - S 37 V=il o TSV & HH o sHafeer e
Ifwe arrange these words in dictionary order, S, @ Frefated 4 & Hﬁ?l-m R T‘ﬁ#{ AW
which one of these will be‘at the third place ? Tm? % ;
| heating @ helpful () heating @ helpful
®  healthy (@ ., healing @), bealthy () healing

18A7
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317.

A 37. A
2
= .
=
3 |
- STIST
; A
= ‘
B B .
Which one of the following is mirror image of Frefafaa 9 F9 IgFH S icaniedl PINEERS
:{]1: ]ailr:llz\i:lglgure when mirror is placed along S <dor 8 @1 AB T @ 2?
o) J 2
) e g a )
@ @ |@ )P @ | @
O .
@) @ |P )D @ . |D M9 @ |PD
A
‘ HI S : 38, 8 Q. e ETS! feReT T S Tl Sqemst B W
38. A(;:ubeI of sti}clle 8 c? iiopaint]id rec})on auﬁhi‘ YTt oE @ TEE 2 I Hi ST
sides. Itisthen cutinto smaller cubes, each© ; Y me : .
side 2 cm. How many of these smaller cubes ard iﬂ%—@? w3 e TR 3:" LA iél.iEI l
have one or more sides painted red ? Ble-Be ‘q_'haﬁ'@ﬁm afyuss Hsﬂaf'f AT
1. 32 (2) 48 TR ? ’ ‘
(3)| 56 @ 24 1 32 @ 48
PRINCESS’ i A @ 2
tain code language is . DI |
- fi‘iit:r?ra: I‘ECINRPTU’. How will you write | 3% % %2 W9 & ‘PRINCESS’ 1 ‘ECINRPTU
‘QPICEJET in the same.code language ? forn st €1 5 g2 W F ‘SPICEJET #
() EJICSPEV @) JECIPSGU fFa e smem? }
@ JEICPSGV) ~.p@)| JEICPSFV () EJICSPFV @ JECIPSGU
o & 2o B ths @  JEICPSGV @  JEICPSFV
40 What is related to the numbers 3, 4, 0'1n 5 , . oy ik
0 ZZ};:: \I:J;Ié?senumbers 4, 2, 3 are related to | 40. gemsti 3, 4, .5 ﬁa@mqm;ﬁmqmﬁ
1,4,97? 1,2, 3HESAT 1, 4,99 Y
1 3,16,25 (@) 916,25 M 38,16,25 @ 916,25
@ 3611 @ 3,825 @ 8611 @ 3,8 25
A-8 SPACE FOR ROUGH WORK / 7% &4 % fire g 18A7
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41.

42,

43.

44,

45.

PART -1 / 401 - 11
(3) COMPUTER LITERACY / ¥ |Ia{ar

Thesaurus tool in MS-Word is used for :

(1)  Spelling suggestions

+(2)| Synonyms and Antonyms words

(3)  Correcting sentences

(4  Grammar options

What is common between the following ?
Facebook, Twitter, Instagram, Pintrest

(1)  All are accessible from dark web.

(2)| Allare social networking sites.

(B)  All are news websites.

(49 All are banned websites.

Artificial intelligence is the science and
engineering for:

(@) _ making intelligent machines.

() making computers think like humans.
Which of the following is the eorreet option ?
(1) Only (b)

(2)| Both(a)and (b)

(3  Neither (a) nor (b)

(4) Only (a)‘

Which of the following font effect is not
available in MS-PowerPoint Font d1alog box ?

t (1) Shadow

(2)  Strike Through
(3  Underline
4 Emboss

and are the smallest and
largest font size available in Font Size tool on
formatting toolbar in MS-Office.

(1) 8and 72 2) 12 and 64
@ 12and72 4 8and64

41.

42.

43.

44,

45,

Y. 9% | i @ @ suam feas fam
ERIESIGIE

(1) A g

@  wEEed g faeim v

() 99 H guR _‘

@) =AY faehey

frefafad § o ToRaTE?

T, fa, gemm, fiere

() @l ek 99 O T A <1 s €
@) W Hve eafhnERe € |

@) O TR SeEEs 1

@ Tt wetud SeEEe €

Wmﬁmﬁf@aﬁﬁmmmam
genfraftT 82

(@) mr{nfnsﬁ#mﬁ%m i
(b) A i TE e 9 $HX oA & T
Frafafas 5 9 w8 @ fasc ad §2

1) FF (b)

@  (a)7 (b) B

3) (a)ﬁm(b)ﬁ@a?rs‘aﬁ

4 HEE (a) ‘
ﬁﬁf‘?@ﬂﬁﬁaﬁﬂmtﬁmiﬁﬁzt{qmm
hie ST s ¥ o A &2

o =& oncdt e

@ WEFY i it

& stz g, v

@ TEE

TH.GH. SR § RATET TEaR W hie w5 @
H_. v P@Ad_ wed e
ThiT WES IY=Y ¥ '
(1) 8qUT72 @ 1299164

@ 12972 (4 8dule4
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46.

Input devices most commonly used on laptops
for routine operationg are

4| Keyboard and Mouse

(  Keyboard and CD-ROM
(3 © Mouse and Pendrive
4  Keyboard and Screen

47.  Which of the following features is used to apply
motion effects in between a slide exits and
another enters ?

(1)  Animation Scheme
(2)  Slide Design
(3)] Slide Transition
(4)  Animation Objects
48. Which of the following are Indian IT
* °  companies? :
(1) Inteland HCL
(2| HCLandTCS
(3 DELLand TCS
4 Intel and Wipro
49.  Given the following pairs:
@  WiFi - Modem
()  Chrome Cable
(© File Hard drive
(d) Charging Cable
" 7 Which of the above is an odd pair ? |
M| @ only 2. (©only
@ (9and(d) 4  (2)only

50. Which of the following option is used to move
data from one place to another in a document
(MS-Office) ?

(1)  Paste (2| Cutand Paste
3  Cut @  Copy-
A-10

46.

417.

48.

49,

50,

o) e Feegd # 9 €7

() €S a9 HIsd

@ e g wE-m-
(3  RE ad AR
4) FINS U BhA

@W%m‘m@ﬁmﬁaﬁ%qw

fersoran <1 ST feR ST % 2
() TS

2. wEe fesmeA

@ TS e

@)  TIHYH st

Frfafea 3 @ HiF o YR o Hufai &2
(1) 5o a9 T 6w,

© T q A,

@ <o g A .

@ et qon fas
ﬁ'ﬂfc‘ff@?[?qﬁqﬂq%

@) TE-wE Hien

b wm EER]

C© wEwE BTE 31w

@ W L
mﬁﬁaﬁqmmmﬁfw%?
M) = () © ¥
@  (oa(a) @  Fad (a)

forelt <otz (m SRR 3 <rer 1 v TM

Wﬁméﬁﬁ%mﬁﬁmﬂﬁﬁm
TR 1 i feen i 22

SV @ Faiw
® W @ e
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(@
(b)
©
@

PART -II / 9T -11
(4) PEDAGOGY / foramyms=

51. Which of the following are important barriers

in the equalisation of educational
opportunities ?

Differences in economic states of learner
Gender disparities
Common school system

Differences in the standards of
educational institutions

Code:

@)
@

13

)

(a) and (d)

(a), (b) and (c)-
(a), (b) and (d)
(a), (b), (c) and (d)

62. Which of the following is not characteristic of
the socially and emotionally mature person ?

@

@

)

@

He makes conformity to social
expectations his primary goal. _

]

He is relatively free from anxiety and’

conflict.

He is capable of exercising control in the :

face of emotional stress.

He has a sense of humour and positive

outlook on life.

53. What can not be visualized as'a role of the
teacher in teaching through problem solving ?

1D

®
@
@

18A7

Creating the problem situation.

Assist students in perceiving, deﬁmng
and stating the problem.

Assgist students in finding appropriate
solution to the problems.

Create fear free atmosphere in the class.

51.

b2.

53.

Frefafaa % 9 = faen & sEw § o #it
HEequl Smd § 2

@@ Toeneff =t anfife feufq 4 e
®) S e (fa 9)

© s fagard srtrna“:

@ I v A A C‘Hﬁ"{
G

@ - @R@

@ (@), AR ()

® @,

@ (@, ®), () I

ﬁﬂtf“ﬁf@aﬁﬁﬂﬂﬁmmﬁmﬁmmﬁ

Raea S fad = 1o A 2
(1) 9% WS STeensli WS I 379
Y@ T&T AT I,

@ % A T a5 § STHand g Bl
7

@ =€ Hamos T @t ferfa § dan s
@ | wmef g ) .

@ = fEchia S & o shem % iy g
Hicaukerik |

-----

e =t yiftrw & w9 o Hm%‘-réf :mm%?
Q) wEE fefa o foio s

(2)  THE R A, TRt w0 qm Fa o
Toremedi =6t werE@ S

@) W F W A v e 3 et
T HEIFAT HEAT | g ae
@ e H I T e 1 i wE)

A-11
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54.

55.

56.

b17.

The concept of IEP (Individualized Education
Plan) is not based on the idea of :

Q) current strengths of the learner

“@  individual goals to be achieved

3  useof cooperative learning strategy

@ separating children on the basis of ability
grouping

What is not a major concern of the school on

the development of child’s language
competence ?

(1) - Issuesrelated to articulation and literacy
@ - Enhancing vocabulary quantum

(@) Ability to use language and create

4| Tothink and communicate with others

What type of efforts are needed to be made in

learning of Mathematics in early primary years
i.e., upto class IV ?

(1)  Diagnosing learning difficulties

@ Providing enrichment programmes

€)] Completing the course/competencies

@ Ensuring regularity in attending the
class/school

~Which of the following is not a mode of

Computer Assisted Learning ?

(1) | Tuterial
() - Drill and Practice Session .
@). Modelling

(4) Data Interpretation and Drawing_

.. Conclusions

A school curriculum can be best defined as:

58.
(1)  The complete array of the courses of study
(@) - All the materials used to further pupils’
activities :
(3)| A complete set of organised experiences
in the school
"(4) Sum total of knowledge to be provided to
7 “]earners ; :
A-12.
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54.

55.

56.

57,

58.
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@ Tl e A S

(4 T TR 3 ST R ferane
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R fereTera a1 FHE WA T €2

) SeaTe Ao wear e faeg

('2) g HerR &1 iAo serr

@) M SgEn qer FTA 6t &

(4) " Ere qn e o TG HaTg BT

TR % Wrafi =l 14 e [V a6 T %
3ferT ¥ o TehT < ST o T <Y STTereerhal
€2

() e wigamal @i fem s

@ Hafta srdm yem

(3)  IGHHH / VeI / I BT G FHA

@ F/ faeem SR ot
o

ﬁwi%fﬁaaﬁﬁﬁqwﬁm@af‘
w1 foftr = %2 o

M e (o)
@ FIR AW g gy (Tsa de Yfra dwm)
@  wiTETw (vt

) ﬁﬁaﬁwmamﬁwm

?&ﬁﬁ'ﬂmwﬁmﬁwmqﬁwl

(1) - T Y qui g
@ ﬁmrefq‘fa%%mw'ﬁqﬁgaﬁ%gm
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59. The most important issue of a multi-level

situationis:
(1)  seeking cooperation amongst students
(@)  Class size exceeding 30
o @) | Addressingthe learning needs of different
level students of different grades
simultaneously
4)  Arranging appropriate TLM

60. A child takes a favourite book and retells the
‘story’ often by using pictures as cues. At what
process/stage/component does she/he

demonstrates ?

(1)} Narrative

(2) Syntacticawareness

(3) Emergentreading
Phonological awareness

@

61. A teacher would become more effective if :

@)
@

&)

@

he/she uses good instructional aids.

he/she helps students to ask question..

he/she helps students to achleve mastery
learning. ;

students score high marks.

62.  Social maturity is best characterized by :

@)
@
6)

@

18A7

ability to win friends and influence people
a high level of personal adjustment

a high degree of social cémpetence

a high degree of integration of one’s needs

and purposes with those of the social
order

59. - g-Trg feafr 1 warifuren eyt fama §

60.

61.

62.

@)  fornfeai @ wedm =t @i s
@  wan ¥ faendt dem w130 | afus 9

@ fafi= goft o fafim </ 3 foenfelal <5t

A SETIRAH H TH Y [ HE

@ Hgfaq ereaE Siferm Tt (TLM) 7t

AT Al

T G o §Y H ST H 39! FegH! o B 9
FEal ¢ | TE (G YlRaT / =)0/ 3FFa Sl Ui/

T ¥ ?
Q)

(2) 91T SITEehdl

(3 3 934
@ TR sy
i e a5a wTe & wwa € 9

@ Wmmmmmwmﬂﬁ

@ e faenfei it wer 1 ¥ werd
@ e fornfe =t weitorm § wemar wt
@ rfafisEdrTasad

TSR TRAsE < 70 <hl Wit Sage 3 d

1 JeR vl forn st g &

@ el S 9o a1 g S w3

e
©@ S TR A HafRs gaEeH
@) A TR F gEiaE gaedar

(@) (KT YA e FASH ol GEfw

HEIHAH U6 Ryl § 3= TH
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63. Match the two sets. Set - I indicates stages of

gognitive_ deyelopment in Piaget’s model and
Set - Il indicates associated characteristics.
:-Select the correet code to represent your

answer,

Set-1

Set - 11
(®  Sensori-motor @®  Reversible
thinking
()  Pre-Operational (i) Object
permanence
© . Conq:;gte Operational @i Egocentrism
@ Formal Operational (iv) Deductive
thinking
(v)  Repetitive
tasks
(vi) Intense self
awareness )

Code:
@ ) @
O @ @) 60 G
@ ® o @ 6
® ® @ )
@ @ G @6

:64. .- Which of the following best describes theeffect
of heredity upon development ?

..(1)  Heredity determines how far we will go

(2 | ~Itdetermines how far we can go

£,-@® - Itis the prime determinant of how far
y we will go

. (4) It is_the prime determinant of how far
" wecango

65. Identification of learning gaps of children and
plugging them is done through :

(1)  Team teaching
’ (2) ’ Reflective teaching
. 403 'Rlemedialteaching
’ @ Re-teaclﬁ.ng

A-14

63.

(@

b

©

@

64,

65.

@ ae R T §) e -1 H fr Hew &
T faaTd F quian T ¥ e He - 11 H
Sqd et FasrmeT 1 Sufan T 1 IW Ry

T e 1 T B |
e -1 ‘ qe-11

T I @  fomdE faa

(Fgd 1) (fafdser f&iT)

e wfEaes o (@) o] e

(S SR ( TSR THAH) |

o dfEacE o i) SREwdR |

(Friz SiaEre) (gidfesH)

S Hhparad: (v) A fead

(T SATRIA ) (Teefqea fufsm)
® -~ FEEEE

To(vi) | TR ITRH Y

%<

@ (b (© @
O @ G @ G
@ @ ) @ @
G @ @ G ).
@ @ @ Gv) @

frefafen 3 & 1 faem A safmesa ¥ v

6 e $Uge oo e &2

() gERERT 9% 9 W ¥ R e we T
S |

@ TE T R 9 A Y o T g
Tehd R |

@) T ge fuie & fren s o

SR |
@) TR T e i § e en saf g
' M Hhd § |
1 8 Q o g s s =2 weem o
TR TRt o st 2
(1) 9T
@  Tomergel st
() SUERI 3Tt
@  Tefem
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66. Youhave administered a test on Mathematics
to class V, most of the students failed in it. You
have to construct and administer another test.
Which test would you prefer ?

(1) Summative test
(@ Mastery test

(3)| Diagnostictest
4  Formative test

67. Emotional response to symbolic stimuli is

primarily the resultof:
(1)  maturation
(2 learning
3 adjustment
«(4)| increased sensory perception
68. A generalised view or characteristics that ought
to be possessed by women and men
constitutes :
(1) genderroles
(2)  genderidentity
(3) genderdisparity
+(4)| gender stereotypes
69. The best way to handle a wrong response of a
student would be :
(1)  to explain the subject matter in detail
again.
(2) _to tell the student that your answer is
wrong. y
(3) . to ask another student to give the correct
' answer. |
(4)| to explain and give another chance to
give answer.
70. Micro teaching is a technique used for :
(1) . teachingsmall sized class
(2)  teachingin a simulated condition
B)| preparationofteacher in specific beachmg
skill
(4)  teaching difficult concepts
18A7

66.

67.

68.

69.

70.

HI9 e V 3 7ITora 3 ferenfeladi snt wdem s
w1 | o sAferenier faendl s<iol 4@ Qa1 o)
TEG TN % 73 TR0 AR S a9 when 9
T 3T H-H Tlen o vEE S ?
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©@  yelorar e

@) A e

(@) TS g

ﬁmaﬁw%uﬁm%ﬁmﬁqﬁﬁ
forgent afomg &2

Q v

@ A

@) HHEEH

@ afidq -

it forar e faRiaTd st s geu qen Afgen
T gt ifee, FrA A A FE?

) St yfa

@ S

(@) SIS A
@ S Fs YRon

Wﬁmeﬁaﬁaﬁﬁﬁaﬂmﬁﬁwﬁmm
m%

(1) Fereneff = ferra g o ai A foream &

HHAMT
@ forenef 1 T qarn i Sw o T 3
© R Frenel ¥ T e S e e
(4)  SHTEA HT A I I F Ferd qHU T
Ve T

H&H AT (Micro teaching) @m%m
YA fomen S ©

() W HE AT Hensi ¥ s 3y

@  oigEfud fefad eremmeg

@ faftre srear wtve o foees Y dar '
@ mﬁwmmaﬁwawm%g
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71.

72,

73.

74.

75.

PART -1I / st - 11
(5) SUBJECT CONCERNED | et faud

T 3 ST i s o i forw fered
T g T 2

- At R ¥ o sremayE R E
o "= .@ T

®| fa= @ TR

wﬁﬁvﬁaﬁaﬁmwﬁ%qﬁaﬂm
foses ® @ mu 2

1) o, gfas, i, swet
@ I, e, S, 3
@) o, sTEW, 3few, dewa

@ | v, s, 2fag, faessa-ue

‘o dfe § i diqiet TeTet I o 6 |
Iqd 9 H @ifed U8 § -9 gHE e
1 T @ =R
@)  wgsife @ W

“guR AR A &N F e
g1

Swfam o § e @ & o ST Hered
B

Q)" ST @ o Feprer

@ | s e () - ST

e gawEr e, ST ST

FreafEd Wi 1 AR Hifedl (69 fawmed
3j -3t Tefia HI TS €2
I

@) . FEm fodor  EHl form

@ fasmm @ fFm wEm

@ R

et G L 1 S |

@ g frar  waww - fadmor
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76.

7.

78.

79.

80.

W{a%@ﬁgﬁmﬁ%ﬁﬁaﬂw%
<= 1 el W § 7

o] ™ @ TE

@ o ) Y -aTH
ogﬁw'wﬁmmaﬂtwﬁfﬂﬁw
# feg e €7 '

@ 9, @@ @ | wfa, @

+@ 9, T @ 9@
‘A’ 1 GEIT €

(l)l 'ﬂéﬁ @ | TaEE

@ @& @) Izl

e 1 ST w9 E
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A2l e @ s
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81.

82,

83.

84.

8b5.

Choose the option which best describes the
meaning of the underlined idiom.

She crawled forward inch by inch.

(1)  slowly and carelessly
2 lazily but carefully
(@)  quickly but carefully

@ | slowly and carefully

Choose the option which best describes: the

meaning of the underlined phrase in the given
sentence.

Who can say who will turn up next ?

()  withdraw @ win"

)| arrive @)

depart

Choose from the given options the word similar

in meaning to the one given below :-
Froth
)| foam (2) waye
@  fruitful (@) - gross
Choose the option to fill in the blanL with the
correct form of the verb.
‘Where’s my pen 7
‘Ram _ ‘ it yesterday.’
-(1)  hadlost 2 lost ?
(3) haslost 4 would lose
Choose the correct option td fill in the blank

inthe following sentence.

He rules a vast empire.
®» in @ into
L(3)] over 4 at

86.

87.

Adjective

@

88.

89.

90.

*Follow my YouTube Channel:

Choose the option to fill in the blank in the
following sentence with correct form of the

- verb.

We Ram and Shyam for many
years. swn TR

(1) knows

(@)  have known

3).  know

(4)| have beenknowing

Choose thé option in which each word in the
following table hasbeen correctly matched with
its respectlve part of speech

ﬂux but ' “can

foamy

Conjunction Verb _ Ad_]gctave - 'Noun
Noun Conjunction Verb

Verb: Adjective ©  Noun - Conjunction

Noun Conjunction Verb Adjective

Co fmrrtig ¢ yione 30

Which form of sentence is the following ?
I'was offered a chair.

(1) Active

2)| Passive

@) - Interrogative
(4) Imperative

Choose the correct option to fill in the blank
in the following sentence.,. - .- ¥

Sita has got nice smile.
@) a 2 an
some

(3  the ()

Choose from the given options the word nearly

opposite in meaning to the one given below :

Popular
(1) raw * (2)|." notorious
(3) relevant - (4) - . promoted
N A-17
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92.

93.

94,

95.

glt tini? t=0, a scooter has a velocity of
ms™-, It slows down with an acceleration

of 50 cm s~ 2. At the end of 4 s, the scooter has
travelled :

(1) 80m 2 84 m
@ 100m @ 104m

i'IS'h'e correct distribution of electrons in sodium
(0] 2,8,1" 2 2,6,3

'@ 5,51 @ 25,4
Which compound is g t i
hydric b saturated acyclic
(1)| Butane

(2) Benzene

(3)  Cyclohexane

(4  Ethene

An object covers two consecutive equal distances
with speeds v, and vy. The average speed of
the object is : |

vit+vy Vivo
O @ 2rivy

ail B Zvive
(3) vi1+va @ vi+vg

An open jeep is moving on a straight path with
auniform velocity. A person sitting on the front
seat projects a ball vertically upwards. After
some time the ball : ‘

@ fai.ls back in his hand.

(2) fallsin front of the jeep.
(3).  falls on the back seat of the jeep.
(4)  fallsoutside the jeep.

A-18 |
Follow my YouTube Channel: Prateek Shivalik ***’

91.

92.

93.

94.

95.

T £ = 0 T e T F AT 21 ms L €1 TR
ﬂﬁ50cms'23ﬁ3{ﬁwgﬂﬁ%l 4sH A<

ﬁwwmﬁ@mmm%?

(1) 80m @ 84im
(3 100m 4 104m
Tifeam & | zasr & faao g

M 281 @ 263
® 55,1 @ 25,4
i it eee i § -

1) =g

@ =+

@ TR

@ - T

IS T8 2 S T S W v, S v, e
BT S| 38 favs =t ol =t foperft 22

@ v _Vivy
2 T
Vivg 2 vy
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96.

97.

98.

An object of mass 40 kg moving along a straight
line with a horizontal velocity of 15 ms—1
collides and sticks to a stationary wooden block
of mass 10 kg. If the surface is smooth, the
combined object (object and the wooden block)
after collision moves along the same straight

. line with a velocity of :

1 9ms-!? @ 10ms-!

@] 12ms-! 4 125ms-1

An object is covering distance in direct
proportion to the square of time elapsed. What

conclusion can be drawn about the motion of
the object ?

(1) The object is moving with zero
acceleration.

1@ | The acceleration of the object is constant.

(@  The object is moving with increasing
acceleration.

(49)  The object is moving with decreasing
acceleration.

The resources of water on the earth are :

(1) Sea/Ocean

(2  Snow on mountain and near poles

(3 Monsoon rain

4| Ocean, snow and rain, underground

water

99. -~ Which one is not a rabi crop ?
; (1) Mustard (2) . Peas”
)| “Blackgram (4 Wheat
100. Which food gives energy instantly ?
(1)| Foodrichin carbohydrates
@ . Food rich in fatg
(3  Foodrich in vitaming
(@  Food rich in proteing
18A7

96.

97.

98.

99.

100.

Follow my YouTube Channel:

15 ms“leﬁ'@ﬁlﬁaﬂ@ﬁ?ﬁmi@lﬁm
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g g5 fas R @ Wug ¥ yvEw wge fivs
(ﬁ@@ﬁﬁww)sﬁwi@%m
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@ 9ms-! @
@ 12ms~! ).

10 ms—1

125 ms™—1

#iE fuve 39 YR Ifd Ha © for 9% g0 5t

it g8t for TTg T & A S ST e 1 5
vz =t nifa & Taw o =71 frerd Forenren st g=at
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@) Tovs v e A AR
@ frsHm @l -

@ fove 9gd = § iy R @
@ fove Hed = A @ ¥

Y& T Sa F HEeT R
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@ ATy wRE

@ A |
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101. Watt second is the unit of :

(D | energy @)  force

(3 momentum (49  power

102. Organ that transports blood to various parts of
human body is :

(1| Heart @  Kidney

@) Ldver (4 Lungs

103. Anobjectofmass 10 kgis moving witha velocity
of 5ms—1, I.f the velocity of the object is tripled,
the change in kinetic energy of the object is:

@O  90% @  300%

10

800% @  900%

104. The length of the small intestines in the human
body is:
(@)) 10 m .2 2m

105. Pick out the correct statement.
(1)  Burning of fuelis a physical change.

(@ CH, Hy0(g), CFC etc. are not green
house gases.

®3) Chlorophyll, a green coloured pigment,
acts as a catalyst during photosynthesis.

(4)  Uranium - 235 is non-radioactive.

A-20

101.

102.

103.

104.

105.

O @

o TS e A € 7
@ Sl @ =

(@ g @ Wi

A o ¥ ER o G IR H A T
S ?

geh

@ T @

10 kg ToI9 &1 HIE fUvg 5 ms—1 & a7 9
nfeam %1 afe 39 fave 1 & @i T = e
S, < fyve =t TSt St § B aren giedH © ;

O 90% @  300%
@< 800% @  900%
T % IR A B 31 A A B -
@® 107, @ 2T

@ 7.5 @ 17T
E T YRR

1) X T e e wRedg 3

® A ) R, T e e
TR e

(3) T S T wRa oot & werrr sy
ﬁmaﬁmmm%l

@) a’tﬁm-zaf,fwvﬁatrrﬁqﬁ%.
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|

106.

107.

108.

Consider the following statements in the context

‘ of levers of third order :

@  Inthese levers the effort is in between
the fulcrum and load (weight).

()  The mechanical advantage of this kind
of levers is more than one.

(©  Tweezer and human arm holding weight
on the palm are examples of levers of
third order.

The correct statement(s) is/are :

(1)  Only (a)

e ©@ (aand(b)

® ®and( @

(a) and (c)

Which one is wrongly matched ?

A B
1) Mercury - Nearest to the sun
2  Venus R Hottest planet -
3) | Saturn - Planet without rings
(4 _Mars - Called red planet

An 8 metric tonne engine pulls a train of
5 wagons each of 2 metric tonnes along a
horizontal track. If the engine exerts a force of
3.5% 10 N and the track is smooth, then the
force exerted by wagon 1 on wagon 2 is:

1)« 8.5x104N @] 28x104N

@) 1.4%x10¢N 4 70x103N

18A7

106, T Aot & SeircAehl o wed F <Y feg mu e

107.

108.

R foar =ifsw ; '

@ ¥ SicTR H AR e SR R wen
G|

®) Il % ITTR! w1 A o
Ak I B

©  TomS qon Aa- e 1 20l W R e

A G 00 % Seiereh % Sqe ¥ |
St
(1) <, e (a) @ _@3Rb)
ERNOEHC) @ @R ()
FIH oA gAfa g 2

A B
@ 99 - T F el
@ T - Tl A U8
® wH -  ERfowue
@ HW .. % T wEan 9l

8 Hifeeh = S o1 g $or 5 fesal areh fngt
&, Fored weder fot o o 2 i =, )y
A vt W oot e e ¥ Ay Se
8.5x 104 N &It Tl & q vt foaett 3,
fessin 7.1 fe=dt 7.2 W fovem =t sTifire s 22

(1 3.5x104N @ 2.8x104N
B 1.4x104N 4 7.0x103N
A-21
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109. Ifthe distance time graph of the motion of an | 109, fe fedt faog =t 7ifd =l gl-9md IS T

object is a straight line but not parallel to the - ¥ W 9 qHg- A ¥ T el €, @ 98 Frend
time axis, then it may be concluded that the 1% fr 3T ¢

object is moving with a : . freren s '

() non-zeroacceleration ; (1 W €

(4] constant acceleration @ T fra §

(3)  increasing acceleration

@ g FE

4@ | constant velocity

(4) CURECGE

110. Which one is a wrong statemént'?
110. <IF &1 heH 16T © 2
(1)  Solids and liquids can not e compressed f T T T

* while gases can be compressed. ' (1) o 3R = e R M 8

e g @) Tifed fRar = Fhar 1

(2)  Gases spread to occupy space available

to them. 1 (@ e Sy W W IR O R

(3  Liquids evaporate silently producing. | = °
cooling effect. : @) ' Wﬁ‘fﬂhv' TR ] Siderar tar H'T(?i
%l

~(4) The mass of 0.5 mole of N, gas and .
0.5 mole of nitrogen atoms are 28 g and ! @ 0.5 | N, 19905 W N AT *
14 grespectively, THHE AW 28 W T 14 7. F)

111. If 20% of 50% of xis twice the value of 50% of _
25% of y, then xis what percent more or less; 1. | 3 x F 50% 20%, y % 25% <l 50% T T

than y ? , % T x, y A v wfim sfus g 32
(1) + 100% more 4@ | 150%more © (1) 100% 3tfien ©@ - 150% o1
@) 125%less @) 250%less @)  125% Y @

250% &Y

112. In a circle with centre O, chords AB and CD; 112. F= 0T Th9q o I AB GRI [
are parallel chords on opposite side of O. If: Sfreng CD §9idR §

AB=20 ¢ém, CD =48 cm and the distance’ SR ¥ fa Iflilaih'{ﬁam.% BRI AB=20"§."ﬁ.,
between the chords is 34 cm, then the diameter .. CD=48 /.10 aix Eﬁa‘ﬁ-ﬁ HEF T T 347,
(in em) of the circle is : | L R M@ M ([ H) ¥
(M. 26 @ 39 | M 26 @ 39
@ 42 {@| »2 : @ 42 @ 52

A-22 ‘ 18A7
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113.

InAABC, £ZC=60°, ZA= 75°, AD L BC, where
Disapointon BC, BE L AC at E,whereEisa
pointon AC. AD and BE intersect each other
at H. What is the measure of ZCHD ?

D] 60 @  55°

@) 50 4 45

114. InAABC, the sides AB and AC are produced to
P and Q, respectively. The bisectors of ZPBC
and ZQCB intersect at a point O. If ZA = 56°,
then ZBOC equals :

@ 28 @ 42
@) 56° t@| 62

115. A solid cube of volume 46656 cm3 is cut intd
8 cubes of equal volumes. What is the ratio of
surface area of the original cube and the total
surface areas of the smaller 8 cubes ?

O] 1:2 @ 1:3
@ 2:3 4 3:4
-8 -3 3]
116. 81 )4 X (2—5J 2 —(EJ | is simplified to :
16 9 2
1
= 2 1
@ 3 @
1
- 4 4
® 3 @

117. In a quadrilateral ABCD, ZC =102° and
ZD=58°. The bisectors of ZA and ZB meet at’
P. What is the measure of ZAPB ?

O 62 @ 78
@| s @ 100
18A7

113.

114.

115.

116.

117.

AABCH, £C=60°, ZA=75°, AD 1 BC ¥, Sl

D, BCRUF fig ¥ e BE | AC, B8, Wl E,
ACRTH TSGR 1 AD 71 BE Wem H W wfirsde
FAEl LCHDHIOME .

a 60 @ 55

B) 50 @ 45

AABC # Y{ST0 AB 3TRAC & AW P 31k Q o
GE T ¥ 1 /PBC 3R LQCB ¥ Hufga
TRER O Wy shid &1 A ZA = 56° %7
ZBOCTSR ¥

Q. 28 @) d2°

@ 56 @ 62

ET 46656 V.13 T Th IG5 8 TR
ST a1t 511 H el S &1 9 57 & g
Ww@ésw%ﬁﬁwwm
H T = w2

Y 4 B 1))

3 2:3 4 3:4

-3

5)*

(3745w

9 2
T BT
3 @ 1
® @ 4

AgYSABCD #, £ZC=102° 3R /D =58F1 2A
3R £B & GAfHSS WER P R e §1 ZAPB
T A &2

1 e @ 7%

® 8 @ 100
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118.  Raman sold an article at 8% gain. Haditbeen | 118, g & s 9% 8% @H W EEUBR |

sold for ¥ 150 more, the gain would have been R = S, 9 M 14% Fi
- 14%. If he had sold it for ¥ 2,650, then gain X 150 Sfrh kS

percent would have been : B | N e AL Hl T 2,650 W e, Sy
T @ 55 .
o 4 @ 55
@] 6 4 65
? @ 6 4 65

119. If the roots of the equation |
(q—l')x2+(r—p)x+(p—q)=o are equal, then | 119. Wm(q—r)x2+(r—p)x+@—®=0%%

“which of the following is true ? - TFE AfEia e A g? . V:
(1) Ptg=2r @] p+r=2q M prg=2r . @ pt+tr=2q
U@ Tpratr=0" @ p-g-r=0 | . @ pta+r=0 @, p~q-r=0

120. The length, breadth and height of a cuboidare | 120. TH TAHH T, TR AN FAEH1:2: 37
inthe ratio 1:2: 3. Ifits total surface area is YN €| 4TS 36 Tt IO AABA 1100 Y,H.2

1100 cm?, then its volume (in cm3) is :

R T e (e ) R '
() 7502 @0 750, @ 75042 @ 0
@) - 1500 @ |* 1500v2 ©® 1500

@ 15002

121. LCMof two numbers is 340 times their HICF. | 121. S¥Emsiwaw, (LC

: \ M) 6 T.H.(HCF) ¥ 340
If HCF is 26 and one of the numbers is 442, . , THF T Ifs

_ , ST H.9. 26 ¥ 3R s gE&
ther{ the. other numberis: | 428 W@ T et Th .

| (1) 260 @ 390 Ty 20 & 360"

o] 520 (4)_560 @), 520 @ . 560

122. A sum amountsto ¥ 87,632 at the end of two | 122, el U1 1 fasrerr o g T 129

years at 12% per annum compound interest, |' . z'g7 £g9 ¥ wEfE — ) alm@z@;
" 'interest compounded annually. What willbe |; . 0 T R Sl = _qg;lliga? RS |
' the simple interest on the same sum at the same |, ;.. ‘ T W ¥
rate for double the earlier period ? _ ; QIR =TT Ty B ? \ .
L) 27,200 @ 8,000 ‘ 0 X7.200 @ 8,000
®)| T14,400 @  %16,000 | @ X14,400 @ 216,000

w e
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123.

th
CA? 4 .
A’ alone completes z part of a work in

20 days. The remaining work then completed
by ‘A’ and ‘B’ working together in 3 days. How
long would ‘B’ alone take to do two times the
original work ?

1
4} }375 days (2 40days

3)| Tbdays 4) 80days

124.

Two years ago, Ritu was three times as old as
her daughter and two years hence, twice her
age will be equal to five times that of her
daughter. What is the sum of the present ages

- of Ritu and her daughter ?

(1) 50years (2) bdyears

?(3)

52 years

@ 55 years

125.

The diameter of the base of a right circular solid
cylinder is 14 ¢m and its volume is 2002.¢m3.
The total surface area of the cylinder (in cm?)

. 22
18 (Take T = —7—J

1) 440 @ 660

3| 880

@ 1320 7

126.

127..

'3

A certain sum is distributed among A, B, C
and D in the ratio 8:4 : 8 : 6 respectively. If
the share of Cis ¥ 2,820, more than that of B,
then what is the sum of sharesof Aand D'?

(1) T5,460 @ .%5,840
73,564 @\ %6345

The ratio betweer the curved surface area and

.. thetotal surface area of aright circular cylinder
18 2:3. Whatis the ratio of radius and height

of the eylinder ?

M| 1:2

@ 2:1

@ 2:3 4 3:2

1,8A7 ,3’.5"

Q{ﬁ@llow my YouTube Channel: Prateek Shivalik

123.

124,

125.

1 126.

‘A’mmﬂma‘ag WA = 20 T F g

FA N AT FH B A G B e 3 e

FHG H T 1B IThel WK w1 gy 9y

fohe o7 # qu s ?
1

» 375 FA

@ dofe

® 7fE @  sofe

3 ot e, frg Fee T T 2 o
T % SR oft SR 37 R < o veE, SHE oy
I AT 3T A H S F Ui T F SR
g Sl swt Tt &1 S ey @ A
2.

50 a4
52 a4

5498
L L

@
®

@
L@

T T NI SIH AT h YR 1 =09 14 .,
& U1 T ST 2002 A3 AoH T pa

gty S @02 ﬁ)%(n:%% )

(1) 440

880

@
@

660
13207 ¢ -

A, B, CHDH3:4:8: 6% o
S STt ¥1 AfE C 9 B % W AT 2,820,
3t &, T A 31k D & v <6 4 = 3w 2

() 5,460 @ 5640
@ 3,564 @ 6,345
O i it e 5 9 T S A g
e ST H 2 : 3 T ST § 1 Ao
o S B e S g7 :
® 1:2 @)
@ ' 2:3 @
A-25
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128. One of the factors of x3 — 3x2+ 3x—2 is :

@®

2+x+1 @ x2-x+1

@ x2—x-1 @ x2+x-1

129. The measure of an angle for which the measure

of the supplement is four times the measure of
the complement is :

ey
@

20° @ 30

45° )

- 60°

130. W_hat is the ratio of the area of an equilateral
triangle of side 2a units to that of a square,
whose diagonal is 2a units ?

@ V3:1 @ V3:4

@] V3 :2 @ VJ3:8

131. Torrid zone lies between which one of the
following latitudes ?

(1| 23%°Nand23%°S

(2 -23%°Nand66%°N
(8 23%°Sand66%°S

(4) 66%°Nand66%°S

132. According tothe Census of India, which one of
the following percentages of decadal population
growth rate is applicable for India during

2001 -20117?

(1) . 16.64% @] 1764%

3 18.25% 4 19.34%
A-26
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128,

129.

130.

131.

132.

x3—3x2+3x—2%'{I"Fr@'—‘a‘sf-Bf-‘?IT\r$ﬂ E
®: '
1 x22+x+1

@ -x-l @

@ x*-x+1

x2+x—1

< 1 1 T T G 9% IO & TR

FaR g, fE T
@  30°

@

a 20°
@ 45 60°

ST 2a 3HE T TH GHATG AT h &GAPS H
uF i, o fowl 22 3K €, O &A% §

AT :
V3:4 .
J3.:8

@31 @

@ 3 :2 @)

I wicsy Frafafan & | fr srensli ¥ o9 3
B e?

M 23%°3 3R 23yee
@ 23%°3. 3Resue3
(@) 23%°3T. 3WRe6u T,

@  66%°3. sleeuea.

: .
R T 2 & 2 car o
T 22 T

O  16.64% @)

@

17.64%

3 18.25%
¢ 19.34 %
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133. According to 2011 census, which one of the

following figures shows the population density
of India ?
-(1) 328 persons/sq. km

(@ 375 persons/sq. km

(3)| 382persons/sq. km

(4) 430 persons/sq. km

134. Ifparallels are drawn/marked at an interval of
one degree, how many of them would be in north

hemisphere ?
4| 89 2 9
@ 9 @ 180

135. -Out of the following percentages, which one of

the following is correct for Nitrogen gas in
the atmosphere ? .

1 70% 2 72%

@| 78% 4 82%

136. According to Census of India 2011, which one
of the following percentages of urban population
in India is correct ?

= (@)

3 80.20% V @)

25.58 % ©@ . 2810%

31.16 %

137. Community lands are called as :

()] Common propertyresource

(2) < Private property resource
(3  Government property resource

4  Non-governmental agency resource

18A7

133. 2011 SUAT % 3ER frefafag sisl § 9 yg
& STHEAT T S B a2

(1) 328 HAfa/ent f&.A.
@ 375 Afarent ..
@) 382 =fa/ant foh. .
(@) 430 /e {1,

134. 3R U felt & sfquer W arary Y@red @i
i/ fafea foran s, < 39 fend ® 379 Fa
et Hem Bt ?

1. 89 _ @ %
3 9 @) 180

135, Frefafigd fog 7 wfoewt # & w-w agavea
H W SR ST g 7 3 for wé 2
O 0% @ 2%

@ % @  82%

136. maﬁwwmzou%mmaﬁ‘ﬂﬁn
STHEA % fore Frfafen v § o6 wg
8?2
1) 2558% @ 28.10% -
@ 30.20% @ 3116%

137. WYTHE T W[t I 71 Fed § 2

(1), -« gl ThmeE
@ =it gfa ganrE
() TN Hufd guE

@) R-IF HHE g
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188. Which one of the following statements is | 138, ﬁtﬂﬁﬁaﬂﬁﬁﬁﬂ?quﬁ% ?

correct ? :

¢ (1) e, T 3 O e O o fer ot
(1| Inamonarchy, King hasabsolute power wfm > |

to rule the country. L T

SRk oot oL =T 99

@) In a monarchy, people can raise @ AL

questions about the decisions the | 2

monarch takes. @)  Srehd H, TS o UIE e & & fag o
(3 Inademocracy, king has absolute power e Bt &1

to rule the country. S e = wfra 8
(4)  Inademocracy, people do not participate @ % St &

in the process of representatives election. oM AT e l

139. Which one of the following is known as standard 139, Frefafiad § & fod a1 HFh R % &

Meridian for India ? T ST ST ?
() 80°East @) | 82%°East 1) 80°gd @ | 82%° T
(3) 85°East @) 87¥%°East @ 85 @ 87w

-

140. The Ninth Five Year Plan was implementedin | 140. <9 # & Y=adig s Ffafag o Q g a4

the country in which one of the following | . H TRy Y TE?
years ? , i
1 1995
(1) 1995 @ | 199 (1) 2 1996
Q 1997 @ 1998
®3) 1997 4 1998
141 'R HfauE % foer’ § w9 § frsfafas 3 9
141. Which one of the following is known as ‘father. Tor e ST T § 2
of the Indian constitution’ ? 5
(1) ~MohandasKarmchand Gandhi o i : T
2 TS TTHT
2| Bhim Rao Ambedkar
3
@ PanditJawaharLal Nehru ®) e e A e
@ SardarVallabhbhai Patel @) HER FEwy aE Ty
142, ¥R & ' s
142. Terrace farming is practised in which one of %-7' Fretfefan & ¥ 5 & g Y ST
the following areas ? ’ :
J@ | HillSlopes O TR
2. Gentle Plains @  ad AT e
3) . Glacial Mountain Peaks @  forea v TR o
(4)  Coastal Lands @  qeEdl gyt w
A-28 18A7
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143.

Transfer of water on earth and its atmosphere

includes which one of the following group of
elements ?

(1) Precipitation, Run-off, Wind and
Temperature

(2)  Precipitation, Humidity, Evaporation
and Wind

@) | Evaporation, Condensation, Precipitation

144.

and Run-off

(4  Evaporation, Precipitation, Wind and
- Temperature

What will be the local time at 80° E wheﬁ the
local time at 20°Eis 10: 00 am ? .

1 11:30am 2 1:30pm

-

3] 2:00pm 4 2:30pm

145. Horsts and Graben are built by which oﬁe of

the following processes ?

(1)  Folding 1@
(3  Volcanism @)

Faulting

Glaciation

146. Which one of the following agencies runs the

Public Health Care System ?

(1)  Private Medical Institutions

(2) | Governmental Agencies

147.

.

(3) Non-Governmental Organisations

(@) Medical Practitioners

The Secretary of the Gram Sabha is elected/
appointed by :

() Members of Gram Sabha
(2)  Village-ward members

(3 Members of Gram Panchayat

4| Government appointee

18A7

143. Gl 1 39F AGAVSH H el T TR frg

144.

1456.

146.

147.

Frefafiaa Tt % wqg = afmfad s $?
L T, S, T 3R aeEe

@  oor, STEa, arsdieRt S v

3 TR, YEeE, quv ok SeEr

@) ST, YT, Yo SR arem e

ST 20° il SRR 9T T |94 Goe F 10 - 00

T, T 800 YR QR B T FH
g 2

1) ..11:30TTH. @)
(3) .2:00d.EA. @

1:30d.um.
2:309.Um.

Trefafaa wohel 8.8 e i 3o s g
AL 5 © 2
O S @ Y

@) SarerEt fwa @ feare

e e Ya) 7 Fefafag § § SH-t
TSiH SeT & 2

O  Treit fafaa gwem
@ WS T
@) IR-WER greT
@ HaErh fafeas

N e g e g

7?

(1) U T TS g
@ UM EE F U gr
@ M UEEd & T g
@) @R gN gl
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148, According to Census of India 2011, which one

149.

150.

A

of the following sex ratios is correct for India ?

(1) 910 Females per 1000 Males

(2) 920 Females per 1000 Males
3)| 940 Females per 1000 Males
(4) 980 Females per 1000 Males

Which one of the following Governmental
Institutions has authority to introduce new
train between Delhi and Kanyakumari ?

(1)  Local government
" (2 State government
(3)] Central government
(4  Non-governmental organisation

The farmers cultivating small plots of land using
simple tools and more labour in the plains are
categorized under which one of the following
types of farming ? :

(1| Primitive subsistence agriculture
(@)  Intensive subsistence agriculture
(3) Commercial farming
(4)  Shifting cultivation

-00o0-

148.

149,

150,

<o 3 e Pt -

éoélwa:mﬁﬂﬂ &7

@ 910 femi Wi 1000 T

@ 920 fomai fd 1000 9¥9

@ 940 ol wfd 1000 T&H

@4 980 feral wfd 1000 T&T
eIt TR T

zﬁa aﬁkwﬁ%ﬁsfwﬁ[ Y A

afehmt BT &7

(). TSR

@ TITER

@) &R IR

@

R-TTErr J1eA .

BN @S] W AR ITH I ATuF A9 &
Y HeEl ¥ O w6 9@ faml S Fefafeaa

iy @ o it i s S 2
(1) anfew Shfee Hfy
@ e St FHia
@ o iy
@ AR
~00o0-
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